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1. New Age Computers manufactures and sells pagers and radio paging systems which include a
180 day warranty on product defects. It also sells an extended warranty which provides an
additional two years of protection. On May 10, it sold a paging system for €4,500 and an extended
warranty for another €1,400. The journal entry to record this transaction would include

a. acredit to Warranty Revenue of €5,900.

b. acredit to Warranty Revenue of €1,400

c. acredit to Sales of €4,500 and a credit to Warranty Revenue of €1,400

d. acredit to Unearned Warranty Revenue of €1,400.

2. Wynne Inc. charges an initial franchise fee of €2,300,000, with €500,000 paid when the
agreement is signed and the balance in five annual payments. The present value of the future
payments, discounted at 10%, is €1,364,680. The franchisee has the option to purchase €300,000 of
equipment for €240,000. Wynne has substantially provided all initial services required and

collectibility of the payments is reasonably assured. The amount of revenue from franchise fees is
a. € 500,000.

b. €1,804,680.
c. €1,864,680.
d. €2,300,000.

. Which of the following is an implication of the going concern assumption?
The historical cost principle is credible.
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a

b.  Depreciation and amortization policies are justifiable and appropriate.

c. The current-noncurrent classification of assets and liabilities is justifiable and significant.
d

All of these answers are correct.

. Which of the following is true of depreciation accounting?
It is a matter of valuation.

It is part of the matching of revenues and expenses.

It can retain funds for purchasing assets.

e e o poe

All of these answer choices are correct.

5. Archer Company purchased equipment in January of 2009 for €90,000. The equipment was being
depreciated on the straight-line method over an estimated useful life of 20 years, with no residual
value. At the beginning of 2019, when the equipment had been in use for 10 years, the company
paid €15,000 to overhaul the equipment. As a result of this improvement, the company estimated
that the useful life of the equipment would be extended an additional 5 years. What should be the
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depreciation expense recorded for this equipment in 2019?

a. €3,000

b. €4,000

c. €4,500

d. €5,500

6. During 2019, Bass Corporation constructed assets costing £1,000,000. The weighted-average
accumulated expenditures on these assets during 2019 was £600,000. To help pay for construction,
£440,000 was borrowed at 10% on January 1, 2019, and funds not needed for construction were
temporarily invested in short-term securities, yielding £9,000 in interest revenue. Other than the
construction funds borrowed, the only other debt outstanding during the year was a £500,000,
10-year, 9% note payable dated January 1, 2011. What is the amount of interest that should be
capitalized by Bass during 2019?

a. £60,000.
b.  £51,000.
c. £58,400.
d.  £49.,400.

Use the following information for questions 7--8.

Lee Company received an HK$1,800,000 subsidy from the government to purchase manufacturing
equipment on January, 2, 2018. The equipment has a cost of HK$3,000,000, a useful life a six years,
and no salvage value. Lee depreciates the equipment on a straight-line basis.

7. If Lee chooses to account for the grant as deferred revenue, the grant revenue recognized will be:
a. Zero in the first year of the grant's life.

b. HKZ$300,000 per year for the years 2018-2023.

c¢. HKS$500,000 per year for the years 2018-2023.

d. HK $1,800,000 in 2018.

8. If Lee chooses to account for the grant as an adjustment to the asset, the book value of the asset
on the 2019 statement of financial position will be:

a. HKS$800,000.

b. HKS$1,200,000.

c. HK$2,800,000.

d. $HK2,400,000.

9. If both ending inventory and purchases and related accounts payable are understated for 2018,

assume this purchase was recorded and paid for in the year 2019, the effects of this error on net
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income(NI) for 2018 and 2019, and current ratio (CR, if greater than 1) at December 31, 2018,
respectively, are

NI for 2018 NI for 2019 2018 CR
a. no effect, overstatement, overstatement.
b. no effect, understatement, no effect.
c. no effect, no effect, overstatement.
d. no effect, no effect, no effect.

10. Loire Corporation purchased 1,600 ordinary shares of Comma Co. for €52,800. During the year,
Comma paid a cash dividend of €13 per share. At year-end, Comma shares were selling for €38 per
share. Loire Corporation purchased the shares to meet a non-trading regulatory requirement
(FVOCI). What amount of total income will Loire Corporation report in its income statement for

the year?

a. -0-

b. €20,800
c. €8,000
d. €28,800
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P4~ Aaron’ s Agency sells an insurance policy offered by Capital Insurance Company for a
commission of $100 on January 2, 2019. In addition, Aaron will receive an additional commission
of $10 each year for as long as the policyholder does not cancel the policy. After selling the policy,
Aaron does not have any remaining performance obligations. Based on Aaron’s significant
experience with these types of policies, it estimates that policyholders on average renew the policy
for 4.5 years. It has no evidence to suggest that previous policyholder behavior will change.
Instructions: (10%)

a. Determine the transaction price of the arrangement for Aaron, assuming 100 policies are sold.
b. Determine the revenue that Aaron will recognize in 2019.

i ~ At December 31, 2019, Volkan AG has outstanding noncancelable purchase commitments for
40,000 gallons, at €3.00 per gallon, of raw material to be used in its manufacturing process. The
company prices its raw material inventory at lower-of-cost-or-net realizable value. The market price
of the material as of December 31, 2019, is €2.70

Required : (10%)

Prepare the entry in January 2020, when the 40,000-gallon shipment is received, for both situations:
(a) the market price in January 2020 was €2.70 per gallon, and

(b) the market price in January 2020 was €3.20 per gallon.
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